ATIPIIVA(HEDIFBPL) STLP-F21-120

AFZEAEN s=1/6 : EREETHEN s=1/4
FHEH s=1/20 20 N
117
2000 62000 m s g0 1ak
050x29x1.6 1504 V] ER14X24
A 7B
(A t=ey % ERES
< :j‘t;g 2
4 ~—
Lot i = ; H
%%/ PP =
e E g T :
£l 3 of © = 1]
38 s o i M8X75
- | o M8X55 ‘ e )
o H 2 ‘ Qi = %%Ii MB7y 7 b
1 S — B ) m /
i P — ; 1
NS =V @7 i IRdl S S o T
— | N
it © 7 AR “’& AL B s
LOY)
g L Finr" ik
o © B R
M10X70
2000 @2000 B0 L44.129] 44 52.9 50_B2.5
—r— ! 117 115
\_4-M6
Ty 7Rl b
gﬁé 50 ’
BB s=1/3 CHEBE s=1/3 DFEBE 5-1/7 BUERN
2y Y2 AN s=1/5
[ 1 [ 1 @ LO/L(?
E ﬁ E i M| <
s|s
N —= I ] N0 Mbx 15 -
1L @ L | — 3.6 | ! | o
Mle|™ e @ 2
[ — — — = =
o L Iml 52.2
i . } @ Ky Y2 TEE s=1/5
@ .
U NN LOLO
i % iy
#it #5 @36 T REE ~
e $3.6 HEREES =
R P45 BHEYHFEE
36 | | B
52.2

M= IV A &AL



AutoCAD SHX Text
%%U正面図 

AutoCAD SHX Text
%%US=1/20

AutoCAD SHX Text
 50x29x1.6

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
@2000

AutoCAD SHX Text
%%U側面図 

AutoCAD SHX Text
%%US=1/20

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
@2000

AutoCAD SHX Text
%%UA部詳細図 

AutoCAD SHX Text
%%US=1/6

AutoCAD SHX Text
4-M6

AutoCAD SHX Text
フックボルト

AutoCAD SHX Text
%%Uメッシュ寸法図 

AutoCAD SHX Text
%%US=1/5

AutoCAD SHX Text
      ( 4.5)

AutoCAD SHX Text
忍び部分

AutoCAD SHX Text
%%Uメッシュ寸法図 

AutoCAD SHX Text
%%US=1/5

AutoCAD SHX Text
      ( 4.5)

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
2-M6x10

AutoCAD SHX Text
%%UC部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
4-M6x15

AutoCAD SHX Text
%%UD部詳細図 

AutoCAD SHX Text
%%US=1/2

AutoCAD SHX Text
M6x15

AutoCAD SHX Text
%%U基礎部取付詳細図 

AutoCAD SHX Text
%%US=1/4

AutoCAD SHX Text
長孔14X24

AutoCAD SHX Text
アンカーボルト M10X70

AutoCAD SHX Text
（B1070）

AutoCAD SHX Text
M8X75

AutoCAD SHX Text
M6フックボルト

AutoCAD SHX Text
M8X55


	シートとビュー
	ﾚｲｱｳﾄ1


